THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid BC-0230 and SC-1146 Ended At Nov 20, 2024 10:00:00 AM CST CONSTRUCTION/CITY - Bridge Rehabilitation NW 10th Street Over North Grand Boulevard

Company:	Manhattan Road and Bridge	Haskell Lemon Group, LLC	Cimarron Construction Company, LLC
Base Bid	\$10,525,630.14	\$12,103,609.5413	\$12,917,278.00
TOTAL BID:	\$10,525,630.14	\$12,103,609.5413	\$12,917,278.00

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #BC-0230 and SC-1146 - Bridge Rehabilitation NW 10th Street Over North Grand Boulevard

Creation Date Sep 25, 2024 End Date Nov 20, 2024 10:00:00 AM CST

Start Date Oct 9, 2024 8:09:44 AM CDT Awarded Date Not Yet Awarded

BC-0230 and SC-114601-01 Base Bid: UNCLASSIFIED EXCAVATION							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Manhattan Road and Bridge		First Offer - \$22.00	1495 / cubic yard	\$32,890.00		Y	
Product Code: BC-0230	Product Code: BC-0230 Supplier Product Code:						
Agency Notes:			Supplier Notes:				
Cimarron Construction Company, LLC		First Offer - \$24.00	1495 / cubic yard	\$35,880.00	Y	Y	
Product Code: BC-0230			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$41.89	1495 / cubic yard	\$62,625.55	Y	Υ	
Product Code: BC-0230			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

BC-0230 and SC-114601-02 Base Bid: BORROW					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$28.00	3589 / cubic yard	\$100,492.00	Υ	Y
Product Code: BC-0230		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge	First Offer - \$32.50	3589 / cubic yard	\$116,642.50		Y
Product Code: BC-0230		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$59.87	3589 / cubic yard	\$214,873.43		Υ
Product Code: BC-0230		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

BC-0230 and SC-114601-03 Base Bid: STABILIZED SUBGRADE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge	First Offer - \$8.30	6522 / square yard	\$54,132.60		Υ			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:	Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$12.00	6522 / square yard	\$78,264.00		Υ			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$12.73	6522 / square yard	\$83,025.06		Υ			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

BC-0230 and SC-1146–01-04 Base Bid: CONC CURB (4 INCH MNTBLE INTEGRAL)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	First Offer - \$8.80	390 / linear foot	\$3,432.00		Υ		
Product Code: BC-0230	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$10.00	390 / linear foot	\$3,900.00		Y		
Product Code: BC-0230		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Manhattan Road and Bridge	First Offer - \$40.00	390 / linear foot	\$15,600.00		Υ		
Product Code: BC-0230		Supplier Product Code	:				

Agency Notes: Supplier Notes:

BC-0230 and SC-114601-05 Base Bid: CONC CURB (6 INCH BARRIER INTEGRAL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$8.80	1910 / linear foot	\$16,808.00		Υ			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$11.00	1910 / linear foot	\$21,010.00		Y			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge	First Offer - \$40.00	1910 / linear foot	\$76,400.00		Υ			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

BC-0230 and SC-114601-06 Base Bid: 2 FT 8 INCH COMB CRB AND GUT (8 INCH BARRIER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$31.91	444 / linear foot	\$14,168.04		Υ			
Product Code: BC-0230 Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge	First Offer - \$40.00	444 / linear foot	\$17,760.00		Υ			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$68.00	444 / linear foot	\$30,192.00		Υ			
Product Code: BC-0230		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

BC-0230 and SC-114601-07 Base Bid: TACK COAT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Haskell Lemon Group, LLC	First Offer - \$3.41	65 / gallon	\$221.65		Y
Product Code: BC-0230		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge	First Offer - \$5.19	65 / gallon	\$337.35		Y
Product Code: BC-0230		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$10.00	65 / gallon	\$650.00		Y
Product Code: BC-0230		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

BC-0230 and SC-114601-08 Base Bid: SUPERPAVE TYPE S3 (PG 64 22 OK)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First Offer - \$270.00	87 / ton	\$23,490.00		Υ		
Product Code: BC-0230	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Manhattan Road and Bridge	First Offer - \$275.00	87 / ton	\$23,925.00		Υ		
Product Code: BC-0230		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$595.02	87 / ton	\$51,766.74		Υ		
Product Code: BC-0230		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

BC-0230 and SC-114601-09 Base Bid: SUPERPAVE TYPE S5 (PG 64 22 OK)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First Offer - \$270.00	69 / ton	\$18,630.00		Υ		
Product Code: BC-0230		Supplier Product Co	ode:				

9							
Agency Notes:		Supplier Notes:					
Manhattan Road and Bridge		First Offer - \$300.00	69 / ton	\$20,700.00	Υ		
Product Code: BC-0230	Product Code: BC-0230			Supplier Product Code:			
Agency Notes:			Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$505.64	69 / ton	\$34,889.16	Y		
Product Code: BC-0230			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				

BC-0230 and SC-114601-10 Base Bid: PORTLAND CEMENT CONCRETE PAVEMENT (9 IN) (DOWEL JOINTED)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$103.75	5715 / square yard	\$592,931.25		Y					
Product Code: BC-0230	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$116.62	5715 / square yard	\$666,483.30		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$169.00	5715 / square yard	\$965,835.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-11 Base Bid: CLASS A CONCRETE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$638.12	454 / cubic yard	\$289,706.48		Υ					
Product Code: BC-0230	Supplier Product Code	e:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$675.00	454 / cubic yard	\$306,450.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$1,001.00	454 / cubic yard	\$454,454.00		Υ					
Product Code: BC-0230		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-12 Base Bid: CLASS C CONCRETE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$434.58	65 / cubic yard	\$28,247.70		Y					
Product Code: BC-0230 Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$665.00	65 / cubic yard	\$43,225.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$778.00	65 / cubic yard	\$50,570.00		Y					
Product Code: BC-0230		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-13 Base Bid: REINFORCED CONCRETE PIPE (18 INCH)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$71.51	323 / linear foot	\$23,097.73		Y					
Product Code: BC-0230	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$102.00	323 / linear foot	\$32,946.00		Y					
Product Code: BC-0230		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$178.00	323 / linear foot	\$57,494.00		Y					
Product Code: BC-0230		Supplier Product Code	2:							

BC-0230 and SC-114601-14 Base Bid: REINFORCED CONCRETE PIPE (24 INCH)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$83.62	18 / linear foot	\$1,505.16		Υ					
Product Code: BC-0230 Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$160.00	18 / linear foot	\$2,880.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$200.00	18 / linear foot	\$3,600.00		Υ					
Product Code: BC-0230		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-15 Base Bid: MANHOLE (4 FOOT DIAMETER)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$3,190.61	5 / each	\$15,953.05		Υ					
Product Code: BC-0230	Supplier Product Co	ode:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$4,506.00	5 / each	\$22,530.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$5,000.00	5 / each	\$25,000.00		Υ					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-16 Base Bid: DESIGN 2 INLET										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$4,362.34	1 / each	\$4,362.34		Υ					
Product Code: BC-0230	Supplier Product Co	ode:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$5,815.00	1 / each	\$5,815.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$7,500.00	1 / each	\$7,500.00		Υ					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-17 Base Bid: DESIGN 2 2 INLET										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$6,135.00	4 / each	\$24,540.00		Y					
Product Code: BC-0230	Supplier Product C	ode:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$7,646.47	4 / each	\$30,585.88		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$12,000.00	4 / each	\$48,000.00		Y					
Product Code: BC-0230		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-18 Base Bid: 2 INCH GLAVANIZED STEEL CONDUIT (EXPOSED)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$53.00	586 / linear foot	\$31,058.00		Y				
Product Code: BC-0230		Supplier Product Code	e:						

-9					
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$55.01	586 / linear foot	\$32,235.86	Υ	
Product Code: BC-0230		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$59.00	586 / linear foot	\$34,574.00	Υ	
Product Code: BC-0230		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

BC-0230 and SC-114601-19 Base Bid: 2 INCH ELECTRICAL CONDUIT (TRENCHED)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge		First Offer - \$22.00	1121 / linear foot	\$24,662.00		Υ				
Product Code: BC-0230			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Haskell Lemon Group, LLC		First Offer - \$22.00	1121 / linear foot	\$24,662.00		Υ				
Product Code: BC-0230			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Cimarron Construction Company, LLC		First Offer - \$23.00	1121 / linear foot	\$25,783.00		Υ				
Product Code: BC-0230			Supplier Product Code:							
Agency Notes:			Supplier Notes:							

BC-0230 and SC-114601-20 Base Bid: REINFORCING STEEL										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$1.20	26566 / pound	\$31,879.20		Y					
Product Code: BC-0230	Supplier Product Code	e:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$1.65	26566 / pound	\$43,833.90		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$1.93	26566 / pound	\$51,272.38		Y					
Product Code: BC-0230		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-21 Base Bid: REMOVE AND RELOCATE SIGN								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge	First Offer - \$550.00	2 / each	\$1,100.00		Υ			
Product Code: BC-0230		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$550.11	2 / each	\$1,100.22		Υ			
Product Code: BC-0230		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$938.00	2 / each	\$1,876.00		Υ			
Product Code: BC-0230		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

BC-0230 and SC-114601-22 Base Bid: (PL) REMOVE LIGHT POLE								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Haskell Lemon Group, LLC	Fi	irst Offer - \$1,100.21	6 / each	\$6,601.26		Υ		
Product Code: BC-0230			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Cimarron Construction Company, LLC	Fi	irst Offer - \$1,180.00	6 / each	\$7,080.00		Υ		
Product Code: BC-0230			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Manhattan Road and Bridge	Fi	irst Offer - \$1,500.00	6 / each	\$9,000.00		Υ		
Product Code: BC-0230			Supplier Product Co	ode:				

Agency Notes: Supplier Notes:

BC-0230 and SC-114601-23 Base Bid: (PL) REMOVE AND RESET OVERHEAD SIGN STR.								
Supplier		Unit Price	Qty/Unit	Total Price	Attch	ı.	Docs	
Cimarron Construction Company, LLC		First Offer - \$36,140.00	1 / each	\$36,140.00			Υ	
Product Code: BC-0230			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Haskell Lemon Group, LLC		First Offer - \$38,507.42	1 / each	\$38,507.42			Υ	
Product Code: BC-0230			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Manhattan Road and Bridge		First Offer - \$65,000.00	1 / each	\$65,000.00			Υ	
Product Code: BC-0230			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					

BC-0230 and SC-114601-24 Base Bid: SHEET ALUMINUM SIGNS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$76.00	7 / square foot	\$532.00		Υ				
Product Code: BC-0230		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$99.02	7 / square foot	\$693.14		Υ				
Product Code: BC-0230		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$525.00	7 / square foot	\$3,675.00		Υ				
Product Code: BC-0230		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-25 Base Bid: REMOVE EXISTING SIGN								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$59.00	1 / each	\$59.00		Υ			
Product Code: BC-0230		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$110.02	1 / each	\$110.02		Y			
Product Code: BC-0230		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge	First Offer - \$525.00	1 / each	\$525.00		Υ			
Product Code: BC-0230		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

BC-0230 and SC-114601-26 Base Bid: SQUARE STEEL SIGN POST								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$12.00	10 / linear foot	\$120.00		Y			
Product Code: BC-0230		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$13.20	10 / linear foot	\$132.00		Y			
Product Code: BC-0230		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge	First Offer - \$275.00	10 / linear foot	\$2,750.00		Y			
Product Code: BC-0230		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

BC-0230 and SC-114601-27 Base Bid: TRAFFIC STRIPE (PLASTIC) (4 INCH WIDE)							
Supplier Unit Price Qty/Unit Total Price Attch. Docs							
Cimarron Construction Company, LLC	First Offer - \$1.70	5367 / linear foot	\$9,123.90		Υ		
Product Code: BC-0230		Supplier Product Code:					

Agency Notes:		Supplier Notes:		
Manhattan Road and Bridge	First Offer - \$2.65	5367 / linear foot	\$14,222.55	Υ
Product Code: BC-0230		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$2.86	5367 / linear foot	\$15,349.62	Y
Product Code: BC-0230		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

BC-0230 and SC-114601-28 Base Bid: TRAFFIC STRIPE (PLASTIC) (8 INCH WIDE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge	First Offer - \$4.25	46 / linear foot	\$195.50		Y			
Product Code: BC-0230 Agency Notes:		Supplier Product Cod Supplier Notes:	e:					
Haskell Lemon Group, LLC	First Offer - \$11.00	46 / linear foot	\$506.00		Y			
Product Code: BC-0230 Agency Notes:		Supplier Product Cod Supplier Notes:	e:					
Cimarron Construction Company, LLC	First Offer - \$17.00	46 / linear foot	\$782.00		Y			
Product Code: BC-0230 Agency Notes:		Supplier Product Cod Supplier Notes:	e:					

BC-0230 and SC-114601-29 Base Bid: TRAFFIC STRIPE (PLASTIC) (24 INCH WIDE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$18.00	58 / linear foot	\$1,044.00		Y				
Product Code: BC-0230		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$20.00	58 / linear foot	\$1,160.00		Y				
Product Code: BC-0230		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$22.00	58 / linear foot	\$1,276.00		Y				
Product Code: BC-0230		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-30 Base Bid: TRAFFIC STRIPE (PLASTIC) (ARROWS)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$236.00	3 / each	\$708.00		Υ				
Product Code: BC-0230		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$275.05	3 / each	\$825.15		Υ				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$525.00	3 / each	\$1,575.00		Υ				
Product Code: BC-0230		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-31 Base Bid: CONSTRUCTION STAKING (CONSTRUCTION SURVEY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Υ			
Product Code: BC-0230		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$94,756.19	1 / lump sum	\$94,756.19		Υ			
Product Code: BC-0230		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$285,623.00	1 / lump sum	\$285,623.00		Υ			
Product Code: BC-0230		Supplier Product Co	ode:					

Agency Notes: Supplier Notes:

BC-0230 and SC-114601-32 Base Bid: CONSTRUCTION SIGNING AND TRAFFIC CONTROL										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$33,448.00	1 / lump sum	\$33,448.00		Y					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$36,763.59	1 / lump sum	\$36,763.59		Υ					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Υ					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-33 Base Bid: MOBILIZ	ZATION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$397,888.00	1 / lump sum	\$397,888.00		Y
Product Code: BC-0230		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$462,590.89	1 / lump sum	\$462,590.89		Y
Product Code: BC-0230		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge	First Offer - \$510,000.00	1 / lump sum	\$510,000.00	Y	Y
Product Code: BC-0230		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

BC-0230 and SC-114601-34 Base Bid: REMOVAL OF STRUCTURES AND OBSTRUCTIONS									
Supplier		,	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	Fire	st Offer - \$	12,487.00	1 / lump sum	\$12,487.00		Y		
Product Code: BC-0230				Supplier Product Co	de:				
Agency Notes:				Supplier Notes:					
Manhattan Road and Bridge	Fire	st Offer - \$	50,000.00	1 / lump sum	\$50,000.00		Y		
Product Code: BC-0230				Supplier Product Co	de:				
Agency Notes:				Supplier Notes:					
Haskell Lemon Group, LLC	Fire	st Offer - \$	77,451.39	1 / lump sum	\$77,451.39		Y		
Product Code: BC-0230				Supplier Product Co	ode:				
Agency Notes:				Supplier Notes:					

BC-0230 and SC-114601-35 Base Bid: STRUCTURAL REMOVAL (INLET)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$878.00	6 / each	\$5,268.00		Υ				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$1,192.63	6 / each	\$7,155.78		Υ				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$1,250.00	6 / each	\$7,500.00		Υ				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-36 Base Bid: STRUCTURAL REMOVAL (MANHOLE)								
Supplier Unit Price Qty/Unit Total Price Attch. Docs								
Cimarron Construction Company, LLC	First Offer - \$1,440.00	1 / each	\$1,440.00		Υ			
Product Code: BC-0230		Supplier Product Co	ode:					

Agency Notes:		Supplier Notes:			
Manhattan Road and Bridge	First Offer - \$1,500.00	1 / each	\$1,500.00	Υ	Y
Product Code: BC-0230		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$2,996.98	1 / each	\$2,996.98	Υ	Y
Product Code: BC-0230		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

BC-0230 and SC-114601-37 Base Bid: STRUCTURAL REMOVAL (18 INCH RCP)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$17.00	190 / linear foot	\$3,230.00		Y				
Product Code: BC-0230		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$20.12	190 / linear foot	\$3,822.80		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$25.00	190 / linear foot	\$4,750.00		Y				
Product Code: BC-0230		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-38 Base Bid: STRUCTURE REMOVAL (GUARDRAIL)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$5.00	1715 / linear foot	\$8,575.00		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$6.00	1715 / linear foot	\$10,290.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$9.63	1715 / linear foot	\$16,515.45		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-39 Base Bid: STRUCTURE REMOVAL (CHANNEL LINER)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$9.00	1886 / square yard	\$16,974.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$24.64	1886 / square yard	\$46,471.04		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$31.00	1886 / square yard	\$58,466.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-40 Base Bid: CONCRETE PAVEMENT REMOVAL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$11.68	6200 / square yard	\$72,416.00		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$12.00	6200 / square yard	\$74,400.00		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$15.00	6200 / square yard	\$93,000.00		Υ				
Product Code: BC-0230		Supplier Product Code:							

Agency Notes: Supplier Notes:

BC-0230 and SC-114601-41 Base Bid: ASPHALT PAVEMENT REMOVAL										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$8.00	541 / square yard	\$4,328.00		Y					
Product Code: BC-0230 Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$10.62	541 / square yard	\$5,745.42		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$22.00	541 / square yard	\$11,902.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-42 Base Bid: REMOVE CURB AND GUTTER										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$7.00	2997 / linear foot	\$20,979.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$7.30	2997 / linear foot	\$21,878.10		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$15.00	2997 / linear foot	\$44,955.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-43 Base Bid: PAVEMENT CUT AND PERMANENT REPAIR (CONCRETE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$301.00	26 / square yard	\$7,826.00		Υ				
Product Code: BC-0230		Supplier Product Code	•						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$461.26	26 / square yard	\$11,992.76		Υ				
Product Code: BC-0230		Supplier Product Code	1						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$500.00	26 / square yard	\$13,000.00		Υ				
Product Code: BC-0230		Supplier Product Code							
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-44 Base Bid: REMOVE PULLBOX									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$660.13	7 / each	\$4,620.91		Υ				
Product Code: BC-0230		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$700.00	7 / each	\$4,900.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$750.00	7 / each	\$5,250.00		Y				
Product Code: BC-0230		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-45 Base Bid: ADJUST INLET TO GRADE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$1,005.00	1 / each	\$1,005.00		Y			
Product Code: BC-0230		Supplier Product Co	ode:					

Agency Notes:		Supplier Notes:		
Manhattan Road and Bridge	First Offer - \$2,500.00	1 / each	\$2,500.00	Υ
Product Code: BC-0230		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$3,135.60	1 / each	\$3,135.60	Υ
Product Code: BC-0230		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

BC-0230 and SC-114601-46 Base Bid: SAWCUT PAVEMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$5.75	424 / linear foot	\$2,438.00		Y				
		Supplier Product Code: Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$7.00	424 / linear foot	\$2,968.00		Y				
Product Code: BC-0230 Agency Notes:		Supplier Product Code: Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$11.00	424 / linear foot	\$4,664.00		Y				
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	:						

BC-0230 and SC-114601-47 Base Bid: PERFORATED UNDERDRAIN PIPE (6 INCH)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$12.00	350 / linear foot	\$4,200.00		Y				
Product Code: BC-0230		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$30.00	350 / linear foot	\$10,500.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$56.00	350 / linear foot	\$19,600.00		Y				
Product Code: BC-0230		Supplier Product Code	::						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-1146-01-48 Base Bid: NON PERFORATED UNDERDRAIN PIPE (6 INCH)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$13.00	100 / linear foot	\$1,300.00		Y				
		Supplier Product Code: Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$20.00	100 / linear foot	\$2,000.00		Y				
Product Code: BC-0230 Agency Notes:		Supplier Product Code: Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$45.20	100 / linear foot	\$4,520.00		Y				
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	:						

BC-0230 and SC-114601-49 Base Bid: BEAM TYPE GUARDRAIL (SINGLE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$24.20	1099 / linear foot	\$26,595.80		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$30.00	1099 / linear foot	\$32,970.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$48.00	1099 / linear foot	\$52,752.00		Υ				
Product Code: BC-0230		Supplier Product Code:							

BC-0230 and SC-114601-50 Base Bid: GUARDRAIL END TREATMENT (GET)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$3,135.60	6 / each	\$18,813.60		Y				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$4,500.00	6 / each	\$27,000.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$4,700.00	6 / each	\$28,200.00		Y				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-51 Base Bid: GUARDRAIL TRAIL END TURNDOWN									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$1,375.27	1 / each	\$1,375.27		Υ				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$2,500.00	1 / each	\$2,500.00		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$2,950.00	1 / each	\$2,950.00		Υ				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-52 Base Bid: GUARDRAIL BRIDGE CONN-THRIE BEAM (31 INCH)									
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$3,135.60	7 / each	\$21,949.20		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$3,500.00	7 / each	\$24,500.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$4,724.00	7 / each	\$33,068.00		Y				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-53 Base Bid: REMOVE AND RESET FENCE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$59.00	147 / linear foot	\$8,673.00		Υ				
Product Code: BC-0230		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$162.53	147 / linear foot	\$23,891.91		Υ				
Product Code: BC-0230		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$225.00	147 / linear foot	\$33,075.00		Υ				
Product Code: BC-0230		Supplier Product Code	<u> </u>						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-54 Base Bid: SOLID SLAB SODDING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$4.00	1367 / square yard	\$5,468.00		Υ				
Product Code: BC-0230		Supplier Product Code:							

Agency Notes:		Supplier Notes:		
Manhattan Road and Bridge	First Offer - \$12.50	1367 / square yard	\$17,087.50	Υ
Product Code: BC-0230		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$22.00	1367 / square yard	\$30,074.00	Υ
Product Code: BC-0230		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

BC-0230 and SC-114601-55 Base Bid: FILTER FABRIC SILT FENCE COMPLETE IN PLACE											
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Cimarron Construction Company, LLC	First Offer - \$3.00	2782 / linear foot	\$8,346.00		Υ						
Product Code: BC-0230		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
Manhattan Road and Bridge	First Offer - \$5.25	2782 / linear foot	\$14,605.50		Υ						
Product Code: BC-0230		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
Haskell Lemon Group, LLC	First Offer - \$11.00	2782 / linear foot	\$30,602.00		Υ						
Product Code: BC-0230		Supplier Product Code:									
Agency Notes:		Supplier Notes:									

3C-0230 and SC-1146–01-56 Base Bid: ROCK BACK INLET BARRIER										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$500.00	13 / each	\$6,500.00		Υ					
Product Code: BC-0230	Supplier Product Co	ode:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$625.00	13 / each	\$8,125.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$1,100.21	13 / each	\$14,302.73		Υ					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-57 Base Bid: PRECONSTRUCTION AND CLEANING CCTV										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$9.00	385 / linear foot	\$3,465.00		Y					
Product Code: BC-0230 Agency Notes:	Supplier Product Code Supplier Notes:	:								
Manhattan Road and Bridge	First Offer - \$9.00	385 / linear foot	\$3,465.00		Y					
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	:							
Haskell Lemon Group, LLC	First Offer - \$19.80	385 / linear foot	\$7,623.00		Υ					
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	:							

BC-0230 and SC-114601-58 Base Bid: PIPE BURSTING (18 INCH CIP TO 18 INCH HDPE)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC		First Offer - \$550.11	385 / linear foot	\$211,792.35		Υ				
Product Code: BC-0230			Supplier Product Code	e:						
Agency Notes:			Supplier Notes:							
Manhattan Road and Bridge		First Offer - \$705.00	385 / linear foot	\$271,425.00		Υ				
Product Code: BC-0230			Supplier Product Code	e:						
Agency Notes:			Supplier Notes:							
Cimarron Construction Company, LLC		First Offer - \$850.00	385 / linear foot	\$327,250.00		Υ				
Product Code: BC-0230			Supplier Product Code	2:						

BC-0230 and SC-114601-59 Base Bid: SEWER FLOW CONTROL										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$21,500.00	1 / lump sum	\$21,500.00		Υ					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$24,584.00	1 / lump sum	\$24,584.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$49,509.54	1 / lump sum	\$49,509.54		Υ					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-60 Base Bid: DEFLECTION TEST (<24 INCH)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$1.05	1 / lump sum	\$1.05		Υ					
Product Code: BC-0230		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Υ					
Product Code: BC-0230		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$3,850.74	1 / lump sum	\$3,850.74		Υ					
Product Code: BC-0230		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-61 Base Bid: TELEVISION INSPECTION (CCTV)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$2.00	385 / linear foot	\$770.00		Y					
Product Code: BC-0230	Supplier Product Code	:								
Agency Notes:	Supplier Notes:									
Manhattan Road and Bridge	First Offer - \$2.15	385 / linear foot	\$827.75		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$11.00	385 / linear foot	\$4,235.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-62 Base Bid: SEWER LEAKAGE TEST (<24 INCH)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$1.05	1 / lump sum	\$1.05		Υ					
Product Code: BC-0230	Supplier Product Co	ode:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$3,850.74	1 / lump sum	\$3,850.74		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-63 Base Bid: SANITARY SEWER MANHOLE REHABILITATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$325.00	28 / vertical foot	\$9,100.00		Υ				
Product Code: BC-0230		Supplier Product Code	:						

Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$340.00	28 / vertical foot	\$9,520.00	Υ
Product Code: BC-0230		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$550.11	28 / vertical foot	\$15,403.08	Υ
Product Code: BC-0230		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

BC-0230 and SC-114601-64 Base Bid: OG AND E CONNECTION BOX									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$1,157.00	6 / each	\$6,942.00		Y				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$1,210.23	6 / each	\$7,261.38		Y				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$1,500.00	6 / each	\$9,000.00		Υ				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-65 Base Bid: OG AND E LIGHT POLE FOOTING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$2,150.00	6 / each	\$12,900.00		Υ					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$2,200.42	6 / each	\$13,202.52		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$2,314.00	6 / each	\$13,884.00		Y					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-66 Base Bid: F SHAPED PARAPET										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$163.00	120 / linear foot	\$19,560.00		Y					
Product Code: BC-0230		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$170.00	120 / linear foot	\$20,400.00		Y					
Product Code: BC-0230		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$308.06	120 / linear foot	\$36,967.20		Y					
Product Code: BC-0230		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-67 Base Bid: SUBSTRUCTURE EXCAVATION COMMON										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$26.13	270 / cubic yard	\$7,055.10		Υ					
Product Code: BC-0230 Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$47.00	270 / cubic yard	\$12,690.00		Υ					
Product Code: BC-0230		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$50.00	270 / cubic yard	\$13,500.00		Υ					
Product Code: BC-0230		Supplier Product Code	2:							

BC-0230 and SC-114601-68 Base Bid: CLSM BACKFILL										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$226.91	397.9 / cubic yard	\$90,287.489		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$300.00	397.9 / cubic yard	\$119,370.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$301.00	397.9 / cubic yard	\$119,767.90		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-69 Base Bid: TEMPORARY EARTH RETAINAGE										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge		First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ				
Product Code: BC-0230			Supplier Product Co	ode:						
Agency Notes:			Supplier Notes:							
Cimarron Construction Company, LLC		First Offer - \$17,844.00	1 / lump sum	\$17,844.00		Υ				
Product Code: BC-0230			Supplier Product Co	ode:						
Agency Notes:			Supplier Notes:							
Haskell Lemon Group, LLC		First Offer - \$48,091.58	1 / lump sum	\$48,091.58		Υ				
Product Code: BC-0230			Supplier Product Co	ode:						
Agency Notes:			Supplier Notes:							

BC-0230 and SC-114601-70 Base Bid: ENGINEERED FALSEWORK										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$12,444.00	1 / lump sum	\$12,444.00		Y					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$647,821.80	1 / lump sum	\$647,821.80		Y					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-71 Base Bid: APPROACH	BC-0230 and SC-114601-71 Base Bid: APPROACH SLAB										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs						
Manhattan Road and Bridge	First Offer - \$275.00	465.9 / square yard	\$128,122.50		Υ						
Product Code: BC-0230		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
Cimarron Construction Company, LLC	First Offer - \$350.00	465.9 / square yard	\$163,065.00		Υ						
Product Code: BC-0230		Supplier Product Code:									
Agency Notes:		Supplier Notes:									
Haskell Lemon Group, LLC	First Offer - \$439.12	465.9 / square yard	\$204,586.008		Υ						
Product Code: BC-0230		Supplier Product Code:									
Agency Notes:		Supplier Notes:									

BC-0230 and SC-114601-72 Base Bid: SAW CUT GROOVING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$5.25	2137.6 / square yard	\$11,222.40		Υ				
Product Code: BC-0230		Supplier Product Code:							

9						
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$5.34	2137.6 / square yard	\$11,414.784		Υ
Product Code: BC-0230			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$7.00	2137.6 / square yard	\$14,963.20		Υ
Product Code: BC-0230			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

BC-0230 and SC-114601-73 Base Bid: 42 INCH F SHAPED PARAPET										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$110.00	697.2 / linear foot	\$76,692.00		Y					
Product Code: BC-0230 Agency Notes:		Supplier Product Code: Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$163.00	697.2 / linear foot	\$113,643.60		Y					
Product Code: BC-0230 Agency Notes:		Supplier Product Code: Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$186.77	697.2 / linear foot	\$130,216.044		Υ					
Product Code: BC-0230 Agency Notes:		Supplier Product Code: Supplier Notes:								

BC-0230 and SC-114601-74 Base Bid: STRUCTURAL STEEL										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$2.34	582520 / pound	\$1,363,096.80		Υ					
Product Code: BC-0230		Supplier Product Code	•							
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$2.85	582520 / pound	\$1,660,182.00		Υ					
Product Code: BC-0230		Supplier Product Code	•							
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$3.80	582520 / pound	\$2,213,576.00		Υ					
Product Code: BC-0230		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-75 Base Bid: WEATHERING STEEL FIXED BEARING ASSEMBLY										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$1,496.90	13 / each	\$19,459.70		Y					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$2,250.00	13 / each	\$29,250.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$3,255.00	13 / each	\$42,315.00		Y					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-76 Base Bid: WEATHERING STL EXP BEARING ASSEMBLY									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	П	First Offer - \$1,589.31	25 / each	\$39,732.75		Υ			
Product Code: BC-0230	Product Code: BC-0230 Supplier Product Code:								
Agency Notes:			Supplier Notes:						
Manhattan Road and Bridge		First Offer - \$2,250.00	25 / each	\$56,250.00		Υ			
Product Code: BC-0230			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Cimarron Construction Company, LLC		First Offer - \$3,257.00	25 / each	\$81,425.00		Υ			
Product Code: BC-0230			Supplier Product Co	ode:					

Agency Notes: Supplier Notes:

BC-0230 and SC-114601-77 Base Bid: CLASS AA CONCRETE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$976.01	411.4 / cubic yard	\$401,530.514		Υ					
Product Code: BC-0230	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$1,157.00	411.4 / cubic yard	\$475,989.80		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$1,200.00	411.4 / cubic yard	\$493,680.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-78 Base Bid: CLASS A CONCRETE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$1,100.00	271.7 / cubic yard	\$298,870.00		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$1,278.32	271.7 / cubic yard	\$347,319.544		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$1,501.00	271.7 / cubic yard	\$407,821.70		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-79 Base Bid: SLOPE WALLS 5 INCH										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$97.64	1541 / square yard	\$150,463.24		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$165.00	1541 / square yard	\$254,265.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$165.00	1541 / square yard	\$254,265.00		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-80 Base Bid: MECHANICAL SPLICES										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$40.00	1212 / each	\$48,480.00		Y					
Product Code: BC-0230 Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$49.00	1212 / each	\$59,388.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$83.03	1212 / each	\$100,632.36		Y					
Product Code: BC-0230		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-81 Base Bid: REINFORCING STEEL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$1.50	2160 / pound	\$3,240.00		Υ				
Product Code: BC-0230		Supplier Product Cod	de:						

Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$1.60	2160 / pound	\$3,456.00		Y	
Product Code: BC-0230		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$3.61	2160 / pound	\$7,797.60		Y	
Product Code: BC-0230		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

BC-0230 and SC-114601-82 Base Bid: EPOXY COATED REINFORCING STEEL										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$1.75	177520 / pound	\$310,660.00		Y					
Product Code: BC-0230	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$1.90	177520 / pound	\$337,288.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$1.92	177520 / pound	\$340,838.40		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-83 Base Bid: PILES FURNISHED HP 10X42										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$45.00	105 / linear foot	\$4,725.00		Υ					
Product Code: BC-0230 Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$53.56	105 / linear foot	\$5,623.80		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$55.00	105 / linear foot	\$5,775.00		Y					
Product Code: BC-0230		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-84 Base Bid: PILES FURNISHED HP 12X53										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$51.00	484 / linear foot	\$24,684.00		Y					
Product Code: BC-0230 Agency Notes:		Supplier Product Code: Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$60.06	484 / linear foot	\$29,069.04		Y					
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	:							
Manhattan Road and Bridge	First Offer - \$63.50	484 / linear foot	\$30,734.00		Y					
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	:							

BC-0230 and SC-1146–01-85 Base Bid: PILES DRIVEN HP 10X42										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$19.00	105 / linear foot	\$1,995.00		Y					
Product Code: BC-0230		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$24.50	105 / linear foot	\$2,572.50		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$36.36	105 / linear foot	\$3,817.80		Υ					
Product Code: BC-0230		Supplier Product Code	:							

Agency Notes: Supplier Notes:

BC-0230 and SC-114601-86 Base Bid: PILES DRIVEN HP 12X53										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$15.50	484 / linear foot	\$7,502.00		Y					
Product Code: BC-0230		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$22.00	484 / linear foot	\$10,648.00		Y					
Product Code: BC-0230		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$28.92	484 / linear foot	\$13,997.28		Y					
Product Code: BC-0230		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-87 Base Bid: PILE SPLICE H PILE NON BIDDABLE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$0.01	1 / each	\$0.01		Y					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$1.00	1 / each	\$1.00		Y					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$500.00	1 / each	\$500.00		Y					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-88 Base Bid: WATER REPELLENT VISUALLY INSPECTED										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$5.75	687 / square yard	\$3,950.25		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$6.05	687 / square yard	\$4,156.35		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$7.00	687 / square yard	\$4,809.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-89 Base Bid: DRILLED SHAFTS 24 INCH DIAMETER										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$414.95	85 / linear foot	\$35,270.75		Y					
Product Code: BC-0230		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$475.00	85 / linear foot	\$40,375.00		Y					
Product Code: BC-0230		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$527.00	85 / linear foot	\$44,795.00		Y					
Product Code: BC-0230		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-90 Base Bid: DRILLED SHAFTS 36 INCH DIAMETER									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$527.70	266 / linear foot	\$140,368.20		Υ				
Product Code: BC-0230		Supplier Product Code	:						

Agency Notes:		Supplier Notes:				
Manhattan Road and Bridge		First Offer - \$600.00	266 / linear foot	\$159,600.00		Y
Product Code: BC-0230			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$601.00	266 / linear foot	\$159,866.00		Y
Product Code: BC-0230			Supplier Product Code	<u>:</u>		
Agency Notes:			Supplier Notes:			

BC-0230 and SC-114601-91 Base Bid: DRILLED SHAFTS 60 INCH DIAMETER										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Haskell Lemon Group, LLC	First Offer - \$1,138.25	312 / linear foot	\$355,134.00		Y					
Product Code: BC-0230		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$1,200.00	312 / linear foot	\$374,400.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$1,942.00	312 / linear foot	\$605,904.00		Y					
Product Code: BC-0230		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-92 Base Bid: CROSSHOLE SONIC LOGGING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Manhattan Road and Bridge	First Offer - \$2,075.00	6 / each	\$12,450.00		Υ					
Product Code: BC-0230	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$3,647.01	6 / each	\$21,882.06		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$4,825.00	6 / each	\$28,950.00		Υ					
Product Code: BC-0230		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-93 Base Bid: ELASTOMERIC COATING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$12.00	1294 / square foot	\$15,528.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$19.00	1294 / square foot	\$24,586.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$24.20	1294 / square foot	\$31,314.80		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-94 Base Bid: SEALED EXPANSION JOINTS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$330.00	53.23 / linear foot	\$17,565.90		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$430.89	53.23 / linear foot	\$22,936.2747		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$478.00	53.23 / linear foot	\$25,443.94		Υ				
Product Code: BC-0230		Supplier Product Code:							

BC-0230 and SC-114601-95 Base Bid: DECK AREA SEALED FLOODCOATS										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$11.00	2141 / square yard	\$23,551.00		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$18.75	2141 / square yard	\$40,143.75		Y					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$19.80	2141 / square yard	\$42,391.80		Υ					
Product Code: BC-0230		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-96 Base Bid: 6 INCH PERFORATED PIPE UNDERDRAIN ROUND										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$13.00	121 / linear foot	\$1,573.00		Υ					
Product Code: BC-0230		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
Manhattan Road and Bridge	First Offer - \$37.50	121 / linear foot	\$4,537.50		Υ					
Product Code: BC-0230		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$82.41	121 / linear foot	\$9,971.61		Υ					
Product Code: BC-0230		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								

BC-0230 and SC-114601-97 Base Bid: 6 INCH NON PERF PIPE UNDERDRAIN RND								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$14.00	48 / linear foot	\$672.00		Υ			
Product Code: BC-0230		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge	First Offer - \$28.00	48 / linear foot	\$1,344.00		Υ			
Product Code: BC-0230		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$54.923	48 / linear foot	\$2,636.304		Υ			
Product Code: BC-0230		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

BC-0230 and SC-114601-98 Base Bid: REMOVAL OF BRIDGE ITEM TYPE A									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$100,000.00	1 / lump sum	\$100,000.00		Υ				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$151,000.00	1 / lump sum	\$151,000.00		Υ				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$264,964.93	1 / lump sum	\$264,964.93		Υ				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-99 Base Bid: REMOVAL OF BRIDGE ITEM TYPE B								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Y			
Product Code: BC-0230		Supplier Product Co	ode:					

Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$68,111.00	1 / lump sum	\$68,111.00	Y
Product Code: BC-0230		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$264,964.93	1 / lump sum	\$264,964.93	Υ
Product Code: BC-0230		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

BC-0230 and SC-114601-100 Base Bid: REMOVAL OF BRIDGE ITEM TYPE E								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge	First Offer - \$525.00	6 / lump sum	\$3,150.00		Υ			
Product Code: BC-0230		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$3,812.97	6 / lump sum	\$22,877.82		Υ			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$4,677.00	6 / lump sum	\$28,062.00		Υ			
Product Code: BC-0230		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

BC-0230 and SC-114601-101 Base Bid: (PL) PILOT HOLES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$159.09	89 / linear foot	\$14,159.01		Y			
Product Code: BC-0230		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge	First Offer - \$200.00	89 / linear foot	\$17,800.00		Y			
Product Code: BC-0230		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$385.00	89 / linear foot	\$34,265.00		Y			
Product Code: BC-0230		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

BC-0230 and SC-114601-102 Base Bid: SUBSTRUCTURE EXCAVATION COMMON								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$27.66	255 / cubic yard	\$7,053.30		Y			
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	:					
Cimarron Construction Company, LLC	First Offer - \$47.00	255 / cubic yard	\$11,985.00		Y			
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	:					
Manhattan Road and Bridge	First Offer - \$60.50	255 / cubic yard	\$15,427.50		Y			
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	:					

BC-0230 and SC-114601-103 Base Bid: CLSM BACKFILL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$233.90	339.8 / cubic yard	\$79,479.22		Υ			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge	First Offer - \$300.00	339.8 / cubic yard	\$101,940.00		Y			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$301.00	339.8 / cubic yard	\$102,279.80		Υ			
Product Code: BC-0230		Supplier Product Code:						

BC-0230 and SC-114601-104 Base Bid: TEMPORARY EARTH RETAINAGE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$14,789.00	1 / lump sum	\$14,789.00		Y				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$14,826.33	1 / lump sum	\$14,826.33		Y				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$48,091.58	1 / lump sum	\$48,091.58		Y				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-105 Base Bid: ENGINEERED FALSEWORK								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$12,478.00	1 / lump sum	\$12,478.00		Υ			
Product Code: BC-0230		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Υ			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$435,257.09	1 / lump sum	\$435,257.09		Υ			
Product Code: BC-0230		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

BC-0230 and SC-114601-106 Base Bid: APPROACH SLAB								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge	First Offer - \$285.00	386.7 / square yard	\$110,209.50		Υ			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$350.00	386.7 / square yard	\$135,345.00		Υ			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$423.38	386.7 / square yard	\$163,721.046		Υ			
Product Code: BC-0230		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

BC-0230 and SC-114601-107 Base Bid: SAW CUT GROOVING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$5.25	1573 / square yard	\$8,258.25		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$5.34	1573 / square yard	\$8,399.82		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$7.00	1573 / square yard	\$11,011.00		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-108 Base Bid: 42 INCH F SHAPED PARAPET									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$110.00	549.5 / linear foot	\$60,445.00		Υ				
Product Code: BC-0230		Supplier Product Code:							

Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$163.00	549.5 / linear foot	\$89,568.50		Υ
Product Code: BC-0230		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$180.14	549.5 / linear foot	\$98,986.93		Υ
Product Code: BC-0230		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

BC-0230 and SC-114601-109 Base Bid: STRUCTURAL STEEL									
Supplier	Unit Price	ce Qty/Unit Total Price Attch. Do							
Haskell Lemon Group, LLC	First Offer - \$2.41	327340 / pound	\$788,889.40		Υ				
Product Code: BC-0230 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$2.85	327340 / pound	\$932,919.00		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$3.75	327340 / pound	\$1,227,525.00		Υ				
Product Code: BC-0230		Supplier Product Code							
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-110 Base Bid: WEATHERING STEEL FIXED BEARING ASSEMBLY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$1,474.56	14 / each	\$20,643.84		Υ				
Product Code: BC-0230 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$1,567.86	14 / each	\$21,950.04		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$3,750.00	14 / each	\$52,500.00		Υ				
Product Code: BC-0230 Supplier Product Code:									
Agency Notes:		Supplier Notes:							

BC-0230 and SC-1146-01-111 Base Bid: WEATHERING STL EXP BEARING ASSEMBLY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$1,554.45	28 / each	\$43,524.60		Y				
Product Code: BC-0230	duct Code: BC-0230 Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$1,567.86	28 / each	\$43,900.08		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$3,777.00	28 / each	\$105,756.00		Y				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-1146–01-112 Base Bid: CLASS AA CONCRETE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$1,128.55	294 / cubic yard	\$331,793.70		Y				
Product Code: BC-0230	Supplier Product Code	e:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$1,157.00	294 / cubic yard	\$340,158.00		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$1,200.00	294 / cubic yard	\$352,800.00		Υ				
Product Code: BC-0230		Supplier Product Code	e:						

Agency Notes: Supplier Notes:

BC-0230 and SC-114601-113 Base Bid: CLASS A CONCRETE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$1,100.00	251.7 / cubic yard	\$276,870.00		Υ				
Product Code: BC-0230 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$1,259.03	251.7 / cubic yard	\$316,897.851		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$1,501.00	251.7 / cubic yard	\$377,801.70		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-114 Base Bid: SLOPE WALLS 5 INCH									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$97.64	696 / square yard	\$67,957.44		Υ				
Product Code: BC-0230	Product Code: BC-0230 Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$165.70	696 / square yard	\$115,327.20		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$172.00	696 / square yard	\$119,712.00		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-115 Base Bid: MECHANICAL SPLICES									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$40.00	921 / each	\$36,840.00		Υ				
Product Code: BC-0230	Product Code: BC-0230 Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$49.00	921 / each	\$45,129.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$54.77	921 / each	\$50,443.17		Y				
Product Code: BC-0230 Supplier Product Code:									
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-116 Base Bid: REINFORCING STEEL									
Supplier	Unit Price Qty/Unit Total Price Attch.								
Manhattan Road and Bridge	First Offer - \$1.50	2090 / pound	\$3,135.00		Υ				
Product Code: BC-0230 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$1.60	2090 / pound	\$3,344.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$3.71	2090 / pound	\$7,753.90		Y				
Product Code: BC-0230 Supplier Product Code:									
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-117 Base Bid: EPOXY COATED REINFORCING STEEL								
Supplier	Unit Price	Unit Price Qty/Unit Total Price Attch. Doo						
Manhattan Road and Bridge	First Offer - \$1.75	111270 / pound	\$194,722.50		Υ			
Product Code: BC-0230		Supplier Product Code	:					

9						
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$1.91	111270 / pound	\$212,525.70	Υ	
Product Code: BC-0230			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$1.95	111270 / pound	\$216,976.50	Υ	
Product Code: BC-0230			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			

BC-0230 and SC-114601-118 Base Bid: PILES FURNISHED HP 10X42									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$52.00	161 / linear foot	\$8,372.00		Υ				
Product Code: BC-0230		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$59.49	161 / linear foot	\$9,577.89		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$63.50	161 / linear foot	\$10,223.50		Υ				
Product Code: BC-0230		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-119 Base Bid: PILES FURNISHED HP 12X53									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$55.00	662 / linear foot	\$36,410.00		Υ				
Product Code: BC-0230		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$67.00	662 / linear foot	\$44,354.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$68.37	662 / linear foot	\$45,260.94		Y				
Product Code: BC-0230		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-120 Base Bid: PILES DRIVEN HP 10X42									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$18.00	161 / linear foot	\$2,898.00		Y				
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	:						
Haskell Lemon Group, LLC	First Offer - \$23.71	161 / linear foot	\$3,817.31		Y				
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	:						
Manhattan Road and Bridge	First Offer - \$25.50	161 / linear foot	\$4,105.50		Y				
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	:						

BC-0230 and SC-114601-121 Base Bid: PILES DRIVEN HP 12X53									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$15.50	662 / linear foot	\$10,261.00		Υ				
Product Code: BC-0230		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$22.00	662 / linear foot	\$14,564.00		Υ				
Product Code: BC-0230		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$24.99	662 / linear foot	\$16,543.38		Υ				
Product Code: BC-0230		Supplier Product Code	2:						

BC-0230 and SC-114601-122 Base Bid: PILE SPLICE H PILE NON-BIDDABLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Haskell Lemon Group, LLC	First Offer - \$0.01	1 / each	\$0.01		Υ				
Product Code: BC-0230	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$1.00	1 / each	\$1.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$500.00	1 / each	\$500.00		Y				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-123 Base Bid: WATER REPELLENT VISUALLY INSPECTED									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$5.71	582 / square yard	\$3,323.22		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$6.05	582 / square yard	\$3,521.10		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$7.00	582 / square yard	\$4,074.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-124 Base Bid: DRILLED SHAFTS 60 INCH DIAMETER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Haskell Lemon Group, LLC	First Offer - \$1,082.36	384 / linear foot	\$415,626.24		Y			
Product Code: BC-0230		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Manhattan Road and Bridge	First Offer - \$1,200.00	384 / linear foot	\$460,800.00		Y			
Product Code: BC-0230		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$1,585.00	384 / linear foot	\$608,640.00		Y			
Product Code: BC-0230		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

BC-0230 and SC-114601-125 Base Bid: CROSSHOLE SONIC LOGGING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$1,500.00	2 / each	\$3,000.00		Y				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$2,075.00	2 / each	\$4,150.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$4,525.70	2 / each	\$9,051.40		Y				
Product Code: BC-0230		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-126 Base Bid: ELASTOMERIC COATING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Manhattan Road and Bridge	First Offer - \$19.00	1326 / square foot	\$25,194.00		Υ			
Product Code: BC-0230		Supplier Product Code:						

Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$22.00	1326 / square foot	\$29,172.00	Y
Product Code: BC-0230		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$24.20	1326 / square foot	\$32,089.20	Y
Product Code: BC-0230		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

BC-0230 and SC-114601-127 Base Bid: SEALED EXPANSION JOINTS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Manhattan Road and Bridge	First Offer - \$330.00	53.02 / linear foot	\$17,496.60		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$431.63	53.02 / linear foot	\$22,885.0226		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$478.00	53.02 / linear foot	\$25,343.56		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-128 Base Bid: DECK AREA SEALED FLOODCOATS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$11.00	1576 / square yard	\$17,336.00		Υ				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Manhattan Road and Bridge	First Offer - \$18.75	1576 / square yard	\$29,550.00		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$19.80	1576 / square yard	\$31,204.80		Y				
Product Code: BC-0230		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

BC-0230 and SC-114601-129 Base Bid: 6 INCH PERFORATED PIPE UNDERDRAIN ROUND						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$13.00	118 / linear foot	\$1,534.00		Y	
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	: :			
Manhattan Road and Bridge	First Offer - \$37.54	118 / linear foot	\$4,429.72		Y	
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	: :			
Haskell Lemon Group, LLC	First Offer - \$84.25	118 / linear foot	\$9,941.50		Y	
Product Code: BC-0230 Agency Notes:		Supplier Product Code Supplier Notes:	: :			

BC-0230 and SC-114601-130 Base Bid: 6 INCH NON PERF PIPE UNDERDRAIN RND							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First Offer - \$14.00	44 / linear foot	\$616.00		Υ		
Product Code: BC-0230		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Manhattan Road and Bridge	First Offer - \$29.90	44 / linear foot	\$1,315.60		Υ		
Product Code: BC-0230		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$59.67	44 / linear foot	\$2,625.48		Υ		
Product Code: BC-0230		Supplier Product Cod	е:				

BC-0230 and SC-114601-131 Base Bid: REMOVAL OF BRIDGE ITEM TYPE C							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Manhattan Road and Bridge	First Offer - \$100,000.00	1 / lump sum	\$100,000.00		Υ		
Product Code: BC-0230		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$106,478.00	1 / lump sum	\$106,478.00		Υ		
Product Code: BC-0230		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$233,934.55	1 / lump sum	\$233,934.55		Υ		
Product Code: BC-0230		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

BC-0230 and SC-114601-132 Base Bid: REMOVAL OF BRIDGE ITEM TYPE D						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Manhattan Road and Bridge	First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Υ	
Product Code: BC-0230		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$60,154.00	1 / lump sum	\$60,154.00		Υ	
Product Code: BC-0230		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$233,934.55	1 / lump sum	\$233,934.55		Υ	
Product Code: BC-0230		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

BC-0230 and SC-1146-01-133 Base Bid: REMOVAL OF BRIDGE ITEM TYPE E						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Manhattan Road and Bridge	First Offer - \$600.00	4 / lump sum	\$2,400.00		Y	
Product Code: BC-0230		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$4,890.00	4 / lump sum	\$19,560.00		Y	
Product Code: BC-0230		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$5,719.45	4 / lump sum	\$22,877.80		Υ	
Product Code: BC-0230		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

Supplier Totals

f Manhattan	Road and Bridge	\$10,525,630.14 (133/133 items)
Bid Contact	Robert Rains bob.rains@manhattanrb.com Ph 918-878-3332	Address 5601 South 122nd East Avenue Tulsa, OK 74146	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Agency Notes:		Supplier Notes:	Head Attch:
f Haskell Lem	non Group, LLC	\$12,103,609.5413 (133/133 items)	
Bid Contact	Tammy Robinson bids@haskelllemon.com	Address PO Box 75608 Oklahoma City, OK 73147	

Qualifications	Ph 405-947-6069 OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:
f Cimarron Co	onstruction Company, LLC	\$12,917,278.00 (133/133 items)	
Bid Contact	Don E Noble DNoble@cimarroncco.com Ph 405-728-1555 Fax 405-728-5026	Address 3501 NE. 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

City Clerk

Bid Committee Bid Tab

Bid DC-0303 Phase-2 Ended At Nov 20, 2024 10:00:00 AM CST CONSTRUCTION/CITY - Storm Sewer Relief Main

Company:	Cimarron Construction Company, LLC	Redlands Contracting	Krapff Reynolds Construction Company
Imported Item Lot	\$1,612,216.00	\$1,892,906.00	\$1,992,086.00
TOTAL BID:	\$1,612,216.00	\$1,892,906.00	\$1,992,086.00

Company:	4M Trenching, LLC	Allen Contracting, Inc.	Downey Contracting, L.L.C.
Imported Item Lot	\$2,094,992.00	\$2,440,055.00	\$2,617,975.00
TOTAL BID:	\$2,094,992.00	\$2,440,055.00	\$2,617,975.00

Company:	Southwest Water Works L.L.C.	
Imported Item Lot	\$3,725,200.00	
TOTAL BID:	\$3,725,200.00	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #DC-0303 Phase-2 - Storm Sewer Relief Main

Creation Date Sep 26, 2024 End Date Nov 20, 2024 10:00:00 AM CST

Start Date Oct 23, 2024 7:42:29 AM CDT Awarded Date Not Yet Awarded

DC-0303 Phase-201-01 Imported Item Lot: AUDIO	- VIDEO RECORDING PRE- A	AND POST- CONSTRU	ICTION		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$1,280.00	1 / lump sum	\$1,280.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Allen Contracting, Inc.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00	Υ	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Downey Contracting, L.L.C.	First Offer - \$2,000.00	1 / lump sum	\$2,000.00	Y	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Redlands Contracting	First Offer - \$2,500.00	1 / lump sum	\$2,500.00	Y	Y
Agency Notes:		Supplier Notes: BID BOND has been able to get it to accep	attached to this pay i ot it digitally.	tem. I have	en't been
4M Trenching, LLC	First Offer - \$4,000.00	1 / lump sum	\$4,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Bid			
Krapff Reynolds Construction Company	First Offer - \$5,000.00	1 / lump sum	\$5,000.00	Υ	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southwest Water Works L.L.C.	First Offer - \$30,000.00	1 / lump sum	\$30,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

DC-0303 Phase-201-02 Imported Item Lot: DEWATERING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Redlands Contracting	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

Cimarron Construction Company, LLC	First Offer - \$26,750.00	1 / lump sum	\$26,750.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Southwest Water Works L.L.C.	First Offer - \$36,000.00	1 / lump sum	\$36,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Krapff Reynolds Construction Company	First Offer - \$150,000.00	1 / lump sum	\$150,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
4M Trenching, LLC	First Offer - \$160,000.00	1 / lump sum	\$160,000.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

DC-0303 Phase-201-03 Imported Item Lot: UNDERCUT POOR SOIL AND REPLACE WITH 4-IN CRUSHED ROCK FOUNDATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$60.00	200 / cubic yard	\$12,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :					
Southwest Water Works L.L.C.	First Offer - \$90.00	200 / cubic yard	\$18,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :					
4M Trenching, LLC	First Offer - \$91.00	200 / cubic yard	\$18,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:					
Downey Contracting, L.L.C.	First Offer - \$100.00	200 / cubic yard	\$20,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :					
Cimarron Construction Company, LLC	First Offer - \$114.00	200 / cubic yard	\$22,800.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :					
Allen Contracting, Inc.	First Offer - \$120.00	200 / cubic yard	\$24,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :					
Redlands Contracting	First Offer - \$145.00	200 / cubic yard	\$29,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

DC-0303 Phase-201-04 Imported Item Lot: FURNISH AND INSTALL JUNCTION BOX A (STATION 16+52)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC		First Offer - \$64,115.00	1 / each	\$64,115.00		Υ		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
Allen Contracting, Inc.		First Offer - \$90,000.00	1 / each	\$90,000.00		Υ		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
Southwest Water Works L.L.C.		First Offer - \$150,000.00	1 / each	\$150,000.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Redlands Contracting		First Offer - \$152,500.00	1 / each	\$152,500.00		Υ		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
Krapff Reynolds Construction Company		First Offer - \$155,000.00	1 / each	\$155,000.00		Υ		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
Downey Contracting, L.L.C.		First Offer - \$221,000.00	1 / each	\$221,000.00		Υ		

Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
4M Trenching, LLC		First Offer - \$351,000.00	1 / each	\$351,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

DC-0303 Phase-201-05 Imported Item Lot: FURNISH AND INSTALL JUNCTION BOX B (STATION 17+47)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$70,985.00	1 / each	\$70,985.00		Υ			
Product Code: Agency Notes:	Supplier Product Consumer Supplier Notes:	ode:						
Allen Contracting, Inc.	First Offer - \$72,000.00	1 / each	\$72,000.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Krapff Reynolds Construction Company	First Offer - \$107,000.00	1 / each	\$107,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Southwest Water Works L.L.C.	First Offer - \$125,000.00	1 / each	\$125,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Redlands Contracting	First Offer - \$132,950.00	1 / each	\$132,950.00		Υ			
Product Code: Agency Notes:		Supplier Product Consumer Supplier Notes:	ode:					
Downey Contracting, L.L.C.	First Offer - \$167,000.00	1 / each	\$167,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Consumer Supplier Notes:	ode:					
4M Trenching, LLC	First Offer - \$308,000.00	1 / each	\$308,000.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

DC-0303 Phase-201-06 Imported Item Lot: REINFORCED CONCRETE PIPE (36 INCHES) "O" RING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Redlands Contracting	First Offer - \$148.00	41 / linear foot	\$6,068.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
Southwest Water Works L.L.C.	First Offer - \$200.00	41 / linear foot	\$8,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
Downey Contracting, L.L.C.	First Offer - \$275.00	41 / linear foot	\$11,275.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
4M Trenching, LLC	First Offer - \$300.00	41 / linear foot	\$12,300.00		Y			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
Cimarron Construction Company, LLC	First Offer - \$365.00	41 / linear foot	\$14,965.00		Y			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
Allen Contracting, Inc.	First Offer - \$535.00	41 / linear foot	\$21,935.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
Krapff Reynolds Construction Company	First Offer - \$1,872.00	41 / linear foot	\$76,752.00		Y			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					

DC-0303 Phase-201-07 Imported Item Lot: REINFORCED CONCRETE PIPE (DOUBLE 78 INCHES) "O" RING	
--	--

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
4M Trenching, LLC	First Offer - \$2,000.00	418 / linear foot	\$836,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$2,389.00	418 / linear foot	\$998,602.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Krapff Reynolds Construction Company	First Offer - \$2,468.00	418 / linear foot	\$1,031,624.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Redlands Contracting	First Offer - \$2,686.00	418 / linear foot	\$1,122,748.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Allen Contracting, Inc.	First Offer - \$3,770.00	418 / linear foot	\$1,575,860.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Downey Contracting, L.L.C.	First Offer - \$3,850.00	418 / linear foot	\$1,609,300.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Southwest Water Works L.L.C.	First Offer - \$5,400.00	418 / linear foot	\$2,257,200.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		

DC-0303 Phase-201-08 Imported Item Lot: REINFORCED CONCRETE PIPE (DOUBLE 84 INCHES) "O" RING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
4M Trenching, LLC	First Offer - \$2,390.00	88 / linear foot	\$210,320.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Krapff Reynolds Construction Company	First Offer - \$2,550.00	88 / linear foot	\$224,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$2,577.00	88 / linear foot	\$226,776.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Redlands Contracting	First Offer - \$2,845.00	88 / linear foot	\$250,360.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Allen Contracting, Inc.	First Offer - \$4,170.00	88 / linear foot	\$366,960.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Downey Contracting, L.L.C.	First Offer - \$4,300.00	88 / linear foot	\$378,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Southwest Water Works L.L.C.	First Offer - \$6,400.00	88 / linear foot	\$563,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:					

DC-0303 Phase-201-09 Imported Item Lot: MANHOLE ADDED DEPTH (4FT DIA)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
4M Trenching, LLC		First Offer - \$142.00	16 / vertical foot	\$2,272.00		Υ		
Product Code:	Supplier Product Code:							
Agency Notes:			Supplier Notes:					
Krapff Reynolds Construction Company		First Offer - \$200.00	16 / vertical foot	\$3,200.00		Y		
Product Code:			Supplier Product Code	e:				
Agency Notes:			Supplier Notes:					

Redlands Contracting	First Offer - \$290.00	16 / vertical foot	\$4,640.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$300.00	16 / vertical foot	\$4,800.00	Y
Product Code:		Supplier Product Code	: :	
Agency Notes:		Supplier Notes:		
Allen Contracting, Inc.	First Offer - \$300.00	16 / vertical foot	\$4,800.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$370.00	16 / vertical foot	\$5,920.00	Υ
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Southwest Water Works L.L.C.	First Offer - \$400.00	16 / vertical foot	\$6,400.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		

DC-0303 Phase-201-10 Imported Item Lot: MANHC	DLE (4FT DIA)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Redlands Contracting	First Offer - \$2,830.00	4 / each	\$11,320.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
Krapff Reynolds Construction Company	First Offer - \$4,000.00	4 / each	\$16,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Downey Contracting, L.L.C.	First Offer - \$4,500.00	4 / each	\$18,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$4,500.00	4 / each	\$18,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$4,645.00	4 / each	\$18,580.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
4M Trenching, LLC	First Offer - \$4,825.00	4 / each	\$19,300.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
Allen Contracting, Inc.	First Offer - \$5,000.00	4 / each	\$20,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

DC-0303 Phase-201-11 Imported Item Lot: 60 INCH x 60 INCH BOX TYPLE INTLET STRUCTURE (COMPLETE IN PLACE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Southwest Water Works L.L.C.	First Offer - \$7,500.00	1 / each	\$7,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Krapff Reynolds Construction Company	First Offer - \$8,000.00	1 / each	\$8,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Downey Contracting, L.L.C.	First Offer - \$10,200.00	1 / each	\$10,200.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
4M Trenching, LLC	First Offer - \$11,000.00	1 / each	\$11,000.00		Υ		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$12,165.00	1 / each	\$12,165.00		Υ		

Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Redlands Contracting	First Offer - \$23,785.0	0 1 / each	\$23,785.00	Y
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		
Allen Contracting, Inc.	First Offer - \$28,000.0	0 1 / each	\$28,000.00	Υ
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

DC-0303 Phase-201-12 Imported Item Lot: CONSTI	RUCTION STAKING (CONST	RUCTION SURVEY)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$4,895.00	1 / lump sum	\$4,895.00		Υ
		Supplier Product Co Supplier Notes:	ode:		
Krapff Reynolds Construction Company	First Offer - \$8,750.00	1 / lump sum	\$8,750.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Allen Contracting, Inc.	First Offer - \$9,000.00	1 / lump sum	\$9,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Redlands Contracting	First Offer - \$9,500.00	1 / lump sum	\$9,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Downey Contracting, L.L.C.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
4M Trenching, LLC	First Offer - \$11,000.00	1 / lump sum	\$11,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southwest Water Works L.L.C.	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC		First Offer - \$4,970.00	1 / lump sum	\$4,970.00		Υ
		Supplier Product Co Supplier Notes:	ode:			
Redlands Contracting		First Offer - \$5,800.00	1 / lump sum	\$5,800.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Downey Contracting, L.L.C.		First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Υ
		Supplier Product Code: Supplier Notes:				
Krapff Reynolds Construction Company		First Offer - \$7,560.00	1 / lump sum	\$7,560.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
4M Trenching, LLC		First Offer - \$8,500.00	1 / lump sum	\$8,500.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Allen Contracting, Inc.		First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Southwest Water Works L.L.C.		First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ
Product Code:			Supplier Product Co	ode:		

Agency Notes: Supplier Notes:

DC-0303 Phase-201-14 Imported Item Lot: CLEARIN	NG AND GRUBBING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
4M Trenching, LLC	First Offer - \$3,800.00	1 / lump sum	\$3,800.00		Y
		Supplier Product Co Supplier Notes:	ode:		
Allen Contracting, Inc.	First Offer - \$11,000.00	1 / lump sum	\$11,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Downey Contracting, L.L.C.	First Offer - \$13,500.00	1 / lump sum	\$13,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Redlands Contracting	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$45,590.00	1 / lump sum	\$45,590.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Krapff Reynolds Construction Company	First Offer - \$55,000.00	1 / lump sum	\$55,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southwest Water Works L.L.C.	First Offer - \$150,000.00	1 / lump sum	\$150,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

DC-0303 Phase-201-15 Imported Item Lot: SOLID	SLAB SODDING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Redlands Contracting	First Offer - \$3.60	4100 / square yard	\$14,760.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$4.00	4100 / square yard	\$16,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$5.00	4100 / square yard	\$20,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$5.00	4100 / square yard	\$20,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
4M Trenching, LLC	First Offer - \$5.00	4100 / square yard	\$20,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$7.00	4100 / square yard	\$28,700.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$8.00	4100 / square yard	\$32,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

DC-0303 Phase-201-16 Imported Item Lot: FILTER FABRIC SILT FENCE-COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$2.00	1100 / linear foot	\$2,200.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

First Offer - \$3.00	1100 / linear foot	\$3,300.00	Υ
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$3.00	1100 / linear foot	\$3,300.00	Υ
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$3.00	1100 / linear foot	\$3,300.00	Υ
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$4.00	1100 / linear foot	\$4,400.00	Υ
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$5.00	1100 / linear foot	\$5,500.00	Υ
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$7.25	1100 / linear foot	\$7,975.00	Υ
	Supplier Product Code:		
	Supplier Notes:		
	First Offer - \$3.00 First Offer - \$3.00 First Offer - \$4.00 First Offer - \$5.00	Supplier Product Code: Supplier Notes: First Offer - \$3.00 1100 / linear foot Supplier Notes: First Offer - \$3.00 1100 / linear foot Supplier Product Code: Supplier Notes: First Offer - \$4.00 1100 / linear foot Supplier Product Code: Supplier Notes: First Offer - \$5.00 1100 / linear foot Supplier Notes: First Offer - \$5.00 1100 / linear foot Supplier Product Code: Supplier Notes: First Offer - \$7.25 1100 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code:	Supplier Product Code: Supplier Notes:

DC-0303 Phase-201-17 Imported Item Lot: CONSTF	DC-0303 Phase-201-17 Imported Item Lot: CONSTRUCTION ENTRANCE						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Redlands Contracting	First Offer - \$1,500.00	1 / each	\$1,500.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
4M Trenching, LLC	First Offer - \$2,500.00	1 / each	\$2,500.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Cimarron Construction Company, LLC	First Offer - \$2,880.00	1 / each	\$2,880.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Downey Contracting, L.L.C.	First Offer - \$3,000.00	1 / each	\$3,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Krapff Reynolds Construction Company	First Offer - \$3,000.00	1 / each	\$3,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Southwest Water Works L.L.C.	First Offer - \$3,500.00	1 / each	\$3,500.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Allen Contracting, Inc.	First Offer - \$5,000.00	1 / each	\$5,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

DC-0303 Phase-201-18 Imported Item Lot: STRUCTURE REMOVAL (CONCRETE BUILDING FLOOR SLAB)						
Unit Price	Qty/Unit	Total Price	Attch.	Docs		
First Offer - \$2,500.00	1 / each	\$2,500.00		Y		
	Supplier Product C	ode:				
	Supplier Notes:					
First Offer - \$8,320.00	1 / each	\$8,320.00		Y		
	Supplier Product C	ode:				
	Supplier Notes:					
First Offer - \$9,000.00	1 / each	\$9,000.00		Υ		
	Supplier Product C	ode:				
	Supplier Notes:					
First Offer - \$10,000.00	1 / each	\$10,000.00		Υ		
	### Unit Price First Offer - \$2,500.00 First Offer - \$8,320.00 First Offer - \$9,000.00	Unit Price Qty/Unit First Offer - \$2,500.00 1 / each Supplier Product C Supplier Notes: First Offer - \$8,320.00 1 / each Supplier Product C Supplier Notes: First Offer - \$9,000.00 1 / each Supplier Product C Supplier Notes:	Unit Price Qty/Unit Total Price First Offer - \$2,500.00 1 / each \$2,500.00 Supplier Product Code: Supplier Notes: First Offer - \$8,320.00 1 / each \$8,320.00 Supplier Product Code: Supplier Notes: First Offer - \$9,000.00 1 / each \$9,000.00 Supplier Product Code: Supplier Notes:	Unit Price Qty/Unit Total Price Attch. First Offer - \$2,500.00 1 / each \$2,500.00 Supplier Product Code: Supplier Notes: First Offer - \$8,320.00 1 / each \$8,320.00 Supplier Product Code: Supplier Notes: First Offer - \$9,000.00 1 / each \$9,000.00 Supplier Product Code: Supplier Notes:		

Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Krapff Reynolds Construction Company	First Offer - \$10,000.00	1 / each	\$10,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
4M Trenching, LLC	First Offer - \$20,000.00	1 / each	\$20,000.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Southwest Water Works L.L.C.	First Offer - \$25,000.00	1 / each	\$25,000.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

DC-0303 Phase-201-19 Imported Item Lot: MOBILIZATION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First Offer - \$64,023.00	1 / lump sum	\$64,023.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Downey Contracting, L.L.C.	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Redlands Contracting	First Offer - \$80,000.00	1 / lump sum	\$80,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
4M Trenching, LLC	First Offer - \$93,000.00	1 / lump sum	\$93,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Krapff Reynolds Construction Company	First Offer - \$95,000.00	1 / lump sum	\$95,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Allen Contracting, Inc.	First Offer - \$145,000.00	1 / lump sum	\$145,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Southwest Water Works L.L.C.	First Offer - \$190,000.00	1 / lump sum	\$190,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

Supplier Totals

Bid Bond

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**

[] (Status: This bid bond could not be verified)

f Cimarron C	onstruction Company, LLC	\$1,612,216.00 (19/19 items)	
Bid Contact	Don E Noble DNoble@cimarroncco.com Ph 405-728-1555 Fax 405-728-5026	Address 3501 NE. 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes: Head A	ttch:
f Redlands Co	ontracting	\$1,892,906.00 (19/19 items)	
Bid Contact	Chris Hendrickson chris.redlands@gmail.com Ph 405-603-6565 Fax 405-603-6567	Address 5601 Northwest 72nd Street Suite 308 Warr Acres, OK 73132	

Bid Notes I have tried multiple times to enter in the Bond but it wont accept it. I checked with my agent and they have confirmed that it's good. I attached to bond to the first pay item incase it doesn't recognize the digital import. **Agency Notes: Supplier Notes:** Head I have tried multiple times to enter in the Attch: Bond but it wont accept it. I checked with my agent and they have confirmed that it's good. I attached to bond to the first pay item incase it doesn't recognize the digital import. f Krapff Reynolds Construction Company \$1,992,086.00 (19/19 items) Address 2400 N.E. 4th st Bid Contact Jim King fred@krapff-reynolds.com Oklahoma City, OK 73117 Ph 405-733-9682 Fax 405-516-0081 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Head Attch: Agency Notes: Supplier Notes:** f 4M Trenching, LLC \$2,094,992.00 (19/19 items) Bid Contact **Mitchell Manning** Address 4912 Bishop Dr adam@4mtrenching.com Oklahoma City, OK 73128 Ph 405-942-4175 Qualifications CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS **Head Attch:** Agency Notes: **Supplier Notes:** f Allen Contracting, Inc. \$2,440,055.00 (19/19 items) Bid Contact **Reed W Greenhill** Address 516 W. California Ave. todd.steelman@allen-contracting.com Oklahoma City, OK 73102 Ph 405-677-4450 Qualifications OKC PRE-QUALIFIED CONTRACTORS Bid Bond (Status: This bid bond could not be verified) **Bid Notes** Bid Bond is attached to first bid item. **Head Attch: Supplier Notes:** Agency Notes: Bid Bond is attached to first bid item. f Downey Contracting, L.L.C. \$2.617.975.00 (19/19 items) **Bid Contact Sheila Stovall** Address 3217 NE 63rd Street dzimbelman@downeycontracting.com Oklahoma City, OK 73121 Ph 405-478-5277 Qualifications **OKC PRE-QUALIFIED CONTRACTORS Head Attch:** Agency Notes: **Supplier Notes:** f Southwest Water Works L.L.C. \$3.725.200.00 (19/19 items) Bid Contact **Paul Matthews** Address 201 NW 132nd St paul@swwaterworks.com Oklahoma City, OK 73114 Ph 405990 Fax 405-463-5665 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Head Attch:** Agency Notes: **Supplier Notes:**

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

City Clerk

Bid Committee Bid Tab

Bid MB-1604 Ended At Nov 20, 2024 10:00:00 AM CST CONSTRUCTION/CITY - Ralph Ellison Library Improvements

Company:	Midtown Construction Services	Pillar Contracting	
Base Bid	\$645,000.00	\$762,000.00	
TOTAL BID:	\$645,000.00	\$762,000.00	

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- **#5** Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #MB-1604 - Ralph Ellison Library Improvements

Creation Date Sep 30, 2024 End Date Nov 20, 2024 10:00:00 AM CST

Start Date Oct 23, 2024 7:42:29 AM CDT Awarded Date Not Yet Awarded

Midtown Construction Services

Bid Contact **Robin Breninger**

Address 1360 Fretz Drive robin@midtownconst.com Edmond, OK 73003

\$645,000.00

Ph 405-888-0866

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**

Agency Notes:		Supplier Notes:		
Item#	Line Item	Unit Price	Qty/Unit	Total Price
MB-160401-01	Base Bid: Ralph Ellison Library Improvements - First Offer	\$645,000.00	1 / lump sum	\$645,000.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:				
			Lot Total:	\$645,000.00

Pillar Contracting \$762,000.00

Kyle Plemons Address Oklahoma **Bid Contact**

kplemons@pillarcontracting.com Oklahoma

Ph 405-721-9992 Oklahoma City, OK 73132

Qualifications OKC PRE-QUALIFIED CONTRACTORS

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
MB-160401-01	Base Bid: Ralph Ellison Library Improvements - First Offer	\$762,000.00	1 / lump sum	\$762,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
			Lot Total:	\$762,000.00

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid MB-1711 Ended At Nov 20, 2024 10:00:00 AM CST CONSTRUCTION/CITY - Fire Training Auxiliary Building

Company:	Midtown Construction Services	Pillar Contracting	Calm Construction LLC
Base Bid	\$1,121,494.00	\$1,169,000.00	\$1,185,777.00
TOTAL BID:	\$1,121,494.00	\$1,169,000.00	\$1,185,777.00

Company:	Pope Contracting	Shiloh Enterprises, Inc.	Hoey Construction
Base Bid	\$1,322,800.00	\$1,530,000.00	\$1,532,000.00
TOTAL BID:	\$1,322,800.00	\$1,530,000.00	\$1,532,000.00

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #MB-1711 - Fire Training Auxiliary Building

Creation Date Sep 23, 2024 End Date Nov 20, 2024 10:00:00 AM CST

Start Date Oct 9, 2024 8:09:02 AM CDT Awarded Date Not Yet Awarded

MB-171101-01 Base Bid: Fire Training Auxiliary Building								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Midtown Construction Services	First Offer - \$1,121,494.00	1 / lump sum	\$1,121,494.00	Y	Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Pillar Contracting	First Offer - \$1,169,000.00	1 / lump sum	\$1,169,000.00	Y	Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					
Calm Construction LLC	First Offer - \$1,185,777.00	1 / lump sum	\$1,185,777.00	Y	Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Bid bond attached	e:					
Pope Contracting	First Offer - \$1,322,800.00	1 / lump sum	\$1,322,800.00	Y	Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					
Shiloh Enterprises, Inc.	First Offer - \$1,530,000.00	1 / lump sum	\$1,530,000.00	Y	Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					
Hoey Construction 👔	First Offer - \$1,532,000.00	1 / lump sum	\$1,532,000.00	Y	Y			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					

Supplier Totals

Supplier Total	S				
f Midtown Co	onstruction Services	\$1,121,494	1.00		
Bid Contact	Robin Breninger robin@midtownconst.com Ph 405-888-0866	Address 1360 Fretz Drive Edmond, OK 73003	3		
Qualifications	OKC PRE-QUALIFIED CONTRACTORS				
Agency Notes:	:	Supplier Notes:	Head Attch: 』		
f Pillar Contra	acting	\$1,169,000.00			
Bid Contact	Kyle Plemons kplemons@pillarcontracting.com Ph 405-721-9992	Address Oklahoma Oklahoma Oklahoma City, Ol	C73132		
Qualifications	OKC PRE-QUALIFIED CONTRACTORS				
Agency Notes	:	Supplier Notes:	Head Attch: 』		
f Calm Construction LLC		\$1,185,777.	\$1,185,777.00		
Bid Contact	Tim Flying Out estimating@calmconstruct.com Ph 405-265-7126	Address PO Box 851075 Yukon, OK 73085			
Qualifications	OKC PRE-QUALIFIED CONTRACTORS				

iirig Auxiliary buli	uiiig	115 114515	
Bid Notes	Bid bond attached above		
Agency Notes:	:	Supplier Notes: Bid bond attached above	Head Attch: 』
f Pope Contracting		\$1,322,8	00.00
Bid Contact	Ted Pope popecontracting@hotmail.com Ph 405-636-0157	Address 8508 S. Western Oklahoma City, OK	73139
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:	:	Supplier Notes:	Head Attch 』
f Shiloh Enter	rprises, Inc.	\$1,530,000	0.00
Bid Contact	Sherry Boyer steve@shiloh-inc.com Ph 405-341-5500 Fax 405-341-7106	Address 5720 N Industrial B Edmond, OK 73034	vd
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:	:	Supplier Notes:	Head Attch: 』
f Hoey Const	ruction	\$1,532,0	00.00
Bid Contact	Michael Hoey estimating@hoeyconstruction.com Ph 918-665-2624	Address 3310 Southwest Boulevard Tulsa, OK 74107	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	🙀 (Status: Authorized on Nov 20, 2024)		
Agency Notes	:	Supplier Notes:	Head Attch: រៀ

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.